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7Cie..., #B...

Jo18signifies that the result will remain the
same under any condition or circumstance.
It must be used together with a question
pronoun or an alternative construction.
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# is a question pronoun. Together with 51£, it
means doesn’t matter who,or anybodly.
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To check yourself, ask: am | giving the reason
for an outcome (FiTLL) OR do | want to tell as
story and emphasize that one thing happened
and then, as a result, something else (T 7&)?
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The conjunction T-s& connects two clauses .
The second clause is a new situation or action
caused by the first clause.

emphasis on two connected happenings
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Do you mean to say...
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This expression is used to cap a series of items.
Noun 1, Noun 2 (+Noun 3)+ft4 i
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Condition, (2£) 9% + Result
Fiand X can be omitted, but not at the same
time.
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Describe he/she is wearing and what
he/she looks like.
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Please choose three, and tell the reason.
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